Review worksheet chapter 11

1. How many moles of water are produced from 6.5moles of oxygen according to the following
reaction? (10 points)
2H, + 0, = 2H,
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2. How many moles of Fe are needed to react with 3.2 moles of S to form FeS? (hint you need the
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3. How many grams of CO,_ are produced when 0.85g of C;Hyo reacts with oxygen according to the
following equation:

2C4Hio + 130; > 8CO; + 10H;0 N )
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4. What mass of CO must react with O, to produce 0.69g of CO,? (15 points)

1CO + O, 72[0
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5. What mass of SO; is produced from the reacnon between 31 Sg of Sg and 8. ES g of/O’?
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What is the limiting reactant? 7
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6. A reaction occurs between Cr and Cl; to form CrCls J \ l'ﬁ)glu} | mol
a. Write the equation O SO?)
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b. If5.6 g of Cr and 4.5g of Cl, are used
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c. Astudent perfgrms the expe Qen?ané gets 5. 4§g What is H’\e percent yield?
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